Inspections Division

Date:_06/23/14

[ Natural Light
\PATIO'COVERS

1-877-707-7427
www.naturallightpatiocovers.com

T-Bar Roof Systems
using
Acrylite Panels

State of Maine
DESIGN MANUAL

| hereby certify that this engineering document was

Prepared By:
P ¥ prepared by me or under my direct personal supervision

and that | am a duly licensed Professional Engineer under

‘ ‘ the laws of the State of Maine.
il
) Seal: W,
A I

N N 4,7,

A&A ENGINEERING A S
CIVIL * STRUCTURAL = f OMERA T =
. . = % : ABU-YASEIN "k —
5911 Renaissance Place e Suite B — . =
p— +  No. 10329 -

Toledo, OH 43623 = . <
Phone 419-292-1983 e Fax 419-292-0955 = I

Name: Omar Abu-Yasein
License No.: 10329
Pages covered by this seal: 1 thru 29




6'CoVERs (e,

Inspections Division

Date:_06/23/14 | A&A ENGINEERING

CIVIL * STRUCTURAL

Maine Design Manual

Table of Contents

TABLE OF CONTENTS ....ccoiiiiiiiiiiiiiiiiiiiieiiiineiississsissssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnsnes 2
1. INTRODUCTION ....cuiiiiiiiiiisissessnnsssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssesssesssesssesssesssssasssssssnes 4
1.1. DESIGN CRITERIA ...ttttteteeauuttteteeeeeauatttteeeeaaauubeteeeeeaeauusbeteeeaeeeaaasbeteeeeeesaanbeeaeeeeeeansbeaeeeeeesaanbabeeeaesasnsbnneeeeeasannre 4
1.2. DESIGN INOTES «..ietteee ettt e e sttt e e e et et e e e s et e et e e e s e s s r e et e e e e e s anr e e et e e e s e mn b e et e e e ee s s reneteeesasanrraneeeesesannres 4

2. COMPONENTS ..ciiiiiiiiiiiiiiiiiisiesssiessesssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnsssnsnsnnsasnnaes 6
2.1. ACRYLITE SHEETS etttttttttttttetetetereteteteteteteteeeeeeeeteteteeeseeeeeeseeaeteeeaeeeeeeeaseeasesesesesesesesassssssssssssssssssssssasasssasansssnsnnnnn 6
2.2. TBAR CAP ettt ettt ettt e e ettt et e e e st e e e e e e e e e et e e e s e e r et e e e e e e e e b b e r et e e e e e nbre et e e e e e nnraeeeeeeeannreneeas 6
2.3. HEAVY DUTY T-BAR ecteeiiieiittitee e ettt e e e ettt e e e e ettt et e e e es s s bateeeeeesaabataeeeesesas bbb e eeeeesaanbabaeeaesasnsbaaeeeesesaanres 6
2.4. HANGING RAIL «. ettt et e s e st e e e e e s e et e e e s e s mrre et e e e e e s nnreneeeeesasanrraneeeesesannres 6
2.5. COLONIAL GUTTER uiittteeeeeeaitteteeeeseauttetteeeeesaubeeeeeesaaanbbe et e eae e e ansb e e e eaeeeaansbe e e eeeeaaannbbeeeeeesannsbeeeeeeeaannnraeeaesenan 6
2.6. SIDE FASCIA «.teeitteteitteeeeettee e ettt e e sttt e e estteeessaaeeesaseeeeansteeeessseeesasseeeansseeesseeeeesnseeeeansseeeanneeeesnsseaeensseeeanteeeananeaan 7
2.7. [ Ty o ] TSP PP U POPPPPPRPOt 7
2.8. HEAVY DUTY [-BEAM . ..ttt ettt ettt e e ettt e e e e s e ettt e e e e e s e ba bt e e e e e e s anbbbeeeeeesanbabaeeeeeesanssnbeaeesesaanres 7
2.9. QL0 o PP PPR 8
2.10.  BOTTOM SHOE .ciiiiiiitittee e e ettt e e e ettt e e e e e sttt e e e e e e e abe et e eeeaaaanbbe e e eeeaaaaneb et e eeeeaannbbeeeeeesannsbeeeeeeeaansnbneeaeaenan 8
2,00, SQUARE POST.cuittiutitetteeteestte st e sate e sttt e bt e bt e s bt e e bt e s ab e e eabeesa b e e sabeesb s e e aee et et e bt e sabeesabeeeabeennbe e beeebeeebeeebeenanee e 8

3. COMPONENT PROPERTIES .....ccceeeiiiiiiiiiiiniinisisssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnsnsass 9
4.,  DESIGN DETAILS.....ccuiiitiiieiiiiiiiteiirtiiiaiieneieetiesistesittssssesssssssssssstsssstessstssssssssssssssssssssssssssssssssssnssssnsssanssss 10
4.1. DESIGN INOTES «..etttttee ettt e ettt e e ettt et e e e s e ettt e e e s e et e e e e s e b e et e e e s e s s ran et eeeesannraneeeeesesnnreneeeesenannnes 10
4.2. HANGING RAIL CONNECTION DETAILS ....vtttteeiiiitttetee e sttt teeeeese et eteeee s s inbeteeesesasbneeeeeeeeansnsneeeesesannbeneeaeeesaannes 10
4.2.1. FLONT VW ...ttt et ettt e e+ e ettt e e e ettt e e e e e s e ats bt e e e e e e aaasnneeeeas 10
4.2.2. SECEION VIBW ..ottt ettt et s e e ettt e et e e st e e et eensne e s s nseesenneeennnees 10
4.2.3. Wall With StUCCO OF SiMiIAr FINISA.......ccccuveeivesiiesiiiesieesit ettt et s et sse st staestteesieesstaessseesases 11
4.2.4. WAl With Siling FiMSR.........ccc.eeeeeeiieeeet ettt sttt ettt e et e e e e nanes 11
4.2.5. 2l Yol 1o [ 01 =T s o T SN 12
4.2.6. Over EXiSting ROOS With SEUD POSES ..........uuveeeeeeeeeeee ettt eeettttee e e e e et ea e e e e e e sttt aaaeeeesaasaneeas 12

4.3. SQUARE POST & HEAVY DUTY |-BEAM CONNECTION DETAILS .eeeeuuttreiirieeerireeeenieeessireeeesareeessnsseessaseeessabeeessnseeessnnees 13
4.4, BEAM SPLICE DETAILS 1.ttt eutteeuteesuteeetteestteesuseesteseseesatesasseesssesssseesssesssseessseessssssesenssssssessnsessssessssessssesssssensessnses 14
4.5. COLONIAL GUTTER AND ACRYLITE PANEL CONNECTION DETAILS ...evvviieeiieiiireeeeeeeeeirirere e e s ennreeeee e s e snreee e e s e s ennneeees 14
4.6. HEAVY DUTY T-BAR W/CAP AND ACRYLITE PANEL DETAILS +vvveeeeeiieeerereeeeeeseeesereeeeesesesssseteessssesisseesesssesseseeeesssssnnes 15
4.7. SIDE FASCIA CONNECTION DETAILS..uveeeettereeeuteeessreeeasusesesasseeesssseesasssesesssseassssseesasssessssssessssssesssssssssssssesssnssessnnns 15
4.8. BOTTOM SHOE ANCHORAGE DETAILS. ....etetieeiiiiiteeteee sttt eee e e e e ettt e e e s e st r et e e e s e sasnereeeeeesamnnneeeeesesnnreneeeesesnnnes 16
4.8.1. BOEEOM SNOE DOLQIS ..ottt ettt s ettt e st e e sttt et e s taesssesateasataesssaesssassesen 16
4.8.2. Bottom Shoe to Square Post CONNECLION DELAII .........ccc.eevueeeoeeeniiieiiesiieseeeee et 16
4.8.3. Bottom Shoe to Wood Frame ANChorage DELtQil .............ccueeeeeueeeesiieeeeieeeecieeescveeeecveaeecaaaeasiseaen 16
4.8.4. Bottom Shoe to Concrete Foundation ANchorage DetQil.................ueieeeeeeueeeeeeeeiiiiieieeeeeesiiiereeaeeeans 17

5. DESIGN TABLES.....cciiiiiiiiiiiiiiiiiiiiiiiiisiiisssssissssss s s s s s s s sssssssssssssssssssssssssssssssssssssssssssssssssssnnsssnsnsnnns 18



6'CoVERs (e,

Inspections Division

one Q02314 | * s
5.1. DIESIGN NOTES .vtvvvvvitreriierererererereseeeeeeeerteeetetetetesetetetetesesssetesesesaessesasseessessssessessesseeesessssssssssesesesssesesssasssassnnnnne 18
5.2. T-BAR SPAN TABLE .etttiiiuutittteeeseriutttteeeesassstteetesssasusteeeeesssssssssaseeesssssassssseessssssnsssseeessssssssssseeessessssseneeessssnsnnns 18
5.3. PERIMETER [-BEAM SPAN TABLES ..cvtttttttitititttitieieteteieteteteteteteteeeteeseeeeseeseeeteseesssssesseeesesesssesessssssssssssssssessssssssssnans 21
5.4. INTERMEDIATE [-BEAM SPAN TABLES....ccvvtttttrtetreeeerereeeeereeereerereeeeseereeeeeteeteseseteseeeesseseeetetasssssesesessssesssssessessesseeens 26

3|Page



6'CoVERs (e,

Inspections Division

b 06/23/14 | A&A ENGINEERING
CIVIL * STRUCTURAL

1. Introduction

This manual covers the design of the Natural Light Patio Covers™ T-bar roof system in the State of
Maine.

1.1. Design Criteria

1. PREVAILING CODE: IBC 2009
ROOF LIVE LOAD: Lg = 20 PSF
SNOW LOAD:

a. GROUND SNOW LOAD: Ps =20 —80 PSF
b. IMPORTANCE FACTOR: ls=1.00
¢. THERMAL FACTOR: G =110
d. EXPOSURE FACTOR: C:=1.00
e. SLOPE FACTOR: Cs=1.00

4. WIND LOAD:

a. BASIC WIND SPEED: 90 -130 MPH
b. IMPORTANCE FACTOR: lw=1.00
c. EXPOSURE: C

5. SEISMIC LOAD:

a. SEISMIC DESIGN CATEGORY: D
b. IMPORTANCE FACTOR: l=1.00

1.2. Design Notes

1. ALLSTRUCTURAL ELEMENTS AND SYSTEMS MADE OF ALUMINUM SHALL CONFORM TO AA
ALUMINUM DESIGN MANUAL (ADM) 2010 REQUIREMENTS.

2. THE DESIGNS CONTAINED IN THIS MANUAL HAVE BEEN MADE IN ACCORDANCE WITH THE
REQUIREMENTS OF THE ICC INTERNATIONAL BUILDING CODE (IBC) 2009. APPLICABLE
STRUCTURAL LOADS HAVE BEEN TAKEN INTO ACCOUNT IN ACCORDANCE WITH THE
REQUIREMENTS OF THE ABOVE CODES AND THE ASCE 7-05 (MINIMUM DESIGN LOADS FOR
BUILDINGS AND OTHER STRUCTURES).

3. THE BASE BUILDING STRUCTURE TO WHICH THE PATIO COVER IS ATTACHED IS ASSUMED TO BE
SUFFICIENTLY STRONG TO RESIST THE REACTIONS PRODUCED BY THE SUPPLEMENTARY (PATIO
COVER) STRUCTURE.

4. STRUCTURAL DESIGN LOADS ON THE STRUCTURE NEED TO BE DETERMINED IN ACCORDANCE
WITH THE GOVERNING BUILDING CODES AND REGULATORY BODIES, LOCAL ORDINANCES,
AND/OR PROJECT SPECIFICATIONS.

5. THE HEIGHT OF THE EXISTING WALL TO WHICH THE PATIO IS ATTACHED IS NOT EXPECTED TO
EXTEND MORE THAN 1FT BEYOND THE ATTACHMENT POINT TO AVOID SNOW DRIFT
ACCUMULATION. IN SUCH CASES THE DESIGN PROFESSIONAL OF RECORD HAS TO BE
CONSULTED TO DETERMINE THE APPROPRIATE DESIGN.

6. ALLALUMINUM ALLOYS SHALL CONFORM TO THE AA ALUMINUM STANDARDS AND DATA 2009.

4|Page



{ Light ‘
0'COVERS i,
L | seamcmEENG

Inspections Division

7. MINIMUM MECHANICAL PROPERTIES OF ALUMINUM ALLOYS ARE PROVIDED IN THE ADM
TABLE 3.3-1.

8. ALL DRAWING NOTES AND RECOMMENDATION SHOULD BE FOLLOWED WHILE USING THIS
DESIGN MANUAL.

9. REFER TO THE INSTALLATION GUIDE FOR ERECTION PROCEDURES AND CARE AND
MAINTENANCE.

10. MINIMUM RECOMMENDED ROOF PITCH IS 1/4” PER FOOT.

11. WHILE THE INFORMATION CONTAINED IN THIS DESIGN MANUAL CAN BE APPLIED TO MOST
APPLICATIONS OF THE T-BAR ROOF SYSTEMS, WHEREVER NON-REGULAR GEOMETRIES OR
LOADINGS ARE EXPECTED, THEY WOULD REQUIRE CASE SPECIFIC ENGINEERING AND DESIGN.

5|Page



[ Lt
= O'COVERS
|

Date:_06/23/14

2. Components

(Drawings not to scale)

s E

o

CEIO I 1+

SN 1
1.323"
(32mm)

ACRYLITE 16/32
HIGH IMPACT NO DRIP DOUBLE-SKINNED
ACRYLIC SHEET

2.1. Acrylite Sheets

iy,

A&A ENGINEERING
CIVIL * STRUCTURAL

0.685" 3
B x% © R
AI, AI,
2.362" 3
T-BAR CAP
6061-T6
DIE #24251 HEAVY DUTY T-BAR
6061-T6
2.2. T-Bar Cap 2.3. Heavy Duty T-Bar
y 2.503" .
f ]
3
o 3 I
0.090" 3 .
mmz%% L% jl/ )
L S 3.400" 4
2.779" COLONIAL GUTTER
HANGING RAIL 6063-T5
6061-T6 DIE #30111
DIE #24091

2.4. Hanging Rail 2.5. Colonial Gutter

6|Page



6'CoVERs (e,

| A&A ENGINEERING
CIVIL * STRUCTURAL

Inspections Division

Date:_06/23/14

fo T Ddodniindodoccd)
S
< 0.078"
H————— 2
5 =
5 o
/, e NI{/ )
oo 1 1502" \,
8 3.002" '
SIDE FASCIA F-SECTION
6063-T5 6063-T5
DIE #24089 DIE #24252
2.6. Side Fascia 2.7. F-Section
~
3
o
% 0.100"
a 7
(Yo
N
4 3.000" 7
HEAVY DUTY [-BEAM
6061-T6
DIE #30278

2.8. Heavy Duty I-Beam

7|Page



[ Lght
O'COVERS

Inspections Division

Date:_06/23/14

iy,

| A&A ENGINEERING
CIVIL * STRUCTURAL

2.500" , . 2.500"
i E 0.100" =
3 j & 0.100"
— —
aﬂ )
2 L
TOP SHOE d 5510" A
6061-T6
DIE #24729 BOTTOM SHOE
6061-T6
DIE #24882
2.9. Top Shoe 2.10. Bottom Shoe
)
, 0.080" K
[V}
IIII ,.I’
2.535"
SQUARE POST
6061-T6
DIE #24250
2.11. Square Post

8|Page



[ Light ‘ “
= O'COVERS -
e 06123114 A%A ENGINEERING
CIVIL * STRUCTURAL
3. Component Properties
AREA S S, I ly
MEMBE DIE NO. ALLOY
R DIENO 0 (in?) (in’) (in%) (in%) (in%)
Side Fascia 24089 6063-T5 0.609 0.473 0.0709 1.131 0.071
Heavy Duty - 6061-T6 1.424 0.607 0.428 1.201 0.672
T-Bar
Square 24250 6061-T6 0.832 0.713 0.713 0.980 0.980
Post
T-Bar Cap 24251 6061-T6 0.392 0.166 0.110 0.168 0.130
F-Section 24252 6063-T5 0.146 0.008 0.031 0.004 0.029
Hanging 24255 6061-T6 1.064 1.349 0.348 3.264 0.678
Rail
Top Shoe 24729 6061-T6 1.064 0.118 0.450 0.131 0.563
Bottom 24882 6061-T6 0.846 0.140 0.657 0.178 1.810
Shoe
Colonial 30111 6063-T5 1.229 0.430 1.890 1.279 5.807
Gutter
Heavy Duty 30278 6061-T6 1.680 3.426 0.691 11.357 1.037
I-Beam

9|Page



[ Lght
O'COVERS

4. Design Details

(Drawings not to scale)

4.1. Design Notes

iy,

| A&A ENGINEERING
CIVIL * STRUCTURAL

1. STRUCTURE FOR SUPPORT OF HANGING RAIL AND PATIO COVER TO BE RESPONSIBILITY OF

OTHERS.
2. FOR FASTENING INTO SOLID CONCRETE USE 1/4" ® — 2” EMBED. HILTI KWIK BOLT 3 EXPANSION

ANCHORS @ 8” O/C.
3. DESIGN PROFESSIONAL TO BE CONSULTED FOR IRREGULAR LOAD OR SUPPORT CONDITIONS

AND FOR ALTERNATIVES.
4. THE CONTRACTOR/OWNER MUST COMPLY WITH ALL APPLICABLE GOVERNING BUILDING CODE

REGULATIONS AND BY-LAWS

4.2. Hanging Rail Connection Details

(T-Bar caps not shown for clarity)

FLASHING 2.503" ,

0.575n

ACRYLITE 16/32 ACRYLIC v
PANELS BETWEEN T-BARS GLAZING TAPE 7 "
HANGING RAIL —\ /
: : 0.090" <
[ 175 . ™
Z " d
#8 X 1/2" SCREWS EACH SIDE \- GASKETING 2.779
OF T-BAR CENTER UPRIGHT
4.2.1. Front View 4.2.2. Section View

10|Page



Inspections Division

Date:_06/23/14

[ Lght
O'COVERS

| A&A ENGINEERING
CIVIL * STRUCTURAL

MAX_ 4"

0.375"

7

HORIZONTAL SLOT TO
RECEIVE TOP LEG OF
HANGING RAIL

#12 X 3-1/2" SCREWS
@ 8" O.C. INTO SOLID
WOOD SUPPORT

HANGING RAIL /

FLASHING
NOTCH T-BAR
FOR FLASHING

ACRYLITE 16/32 ACRYLIC
PANELS BETWEEN T-BARS

GASKETING

F-SECTION AT ENDS OF
ACRYLITE PANELS
BETWEEN T-BARS

4.2.3. Wall with Stucco or Similar Finish

7

#12 X 3-1/2" SCREWS
@ 8" O.C. INTO SOLID
WOQOD SUPPORT

MAx. 4»
FLASHING
NOTCH T-BAR
FOR FLASHING
Y- -—-- ACRYLITE 16/32 ACRYLIC
E==== PANELS BETWEEN T-BARS
/ GASKETING
\

HANGING RAIL

F-SECTION AT ENDS OF
ACRYLITE PANELS
BETWEEN T-BARS

4.2.4. Wall with Siding Finish

11| Page



iy,

| A&A ENGINEERING

CIVIL * STRUCTURAL

Inspections Division

Date:_06/23/14

(2) ROWS #12 X 3-1/2" SCREWS @
24" O.C. INTO EACH RAFTER END

MAXx. 4»
FLASHING
NOTCH T-BAR
FOR FLASHING
| ACRYLITE 16/32 ACRYLIC
— X 771} F:g:::E\E PANELS BETWEEN T-BARS
/ GASKETING
\

F-SECTION AT ENDS OF
f ACRYLITE PANELS
BETWEEN T-BARS

#8 x 1/2" SCREW EACH SIDE
HANGING RAIL  OF T-BAR CENTER UPRIGHT

4.2.5. Fascia Overhang

HANGING RAIL

Bz
(4) #8 X 1" SCREWS
TO TOP SHOE \

(4) #14 X 1" SCREWS
- (2) EACH SIDE

2-3/4" SQUARE POST @ ROOF
RAFTER OR TRUSS NOT TO
EXCEED 4'-0" O.C. OVER TOP
OF BEARING WALL OR BEAM

TOP SHOE
(4) #14 X 1" SCREWS

- (2) EACH SIDE
: BOTTOM SHOE
/ (2) #14 LAG SCREWS W/ 3"

THREAD LENGTH EMBEDMENT

MIN. 3" EMBED.

4.2.6. Over Existing Roof with Stub Posts
12| Page



6'CoVERs (e,

Inspections Division

pate:_06/23/14 | A&A ENGINEERING
CIVIL * STRUCTURAL

4.3. Square Post & Heavy Duty I-Beam Connection Details

#8 x 1/2" SCREWS
T-BAR CAP EACH SIDE OF T-BAR

HEAVY DUTY T-BAR CENTER UPRIGHT
GASKETING

ACRYLITE 16/32 ACRYLIC
/ PANELS BETWEEN T-BARS

#8 x 1/2" SCREWS
EACH SIDE OF T-BAR
CENTER UPRIGHT

I-BEAM

| N e ——n S E - _(771777J7 |

N ;
; TOP SHOE /
| @
I
(6) #14 x 1-1/2" BOLTS I

- (3) EACH SIDE
(3) %u

(6) #14 x 1" SCREWS /

- (3) EACH SIDE )
] 2-3/4" SQUARE POST #
— OPTIONAL KNEE BRACE - :
REQD. IF DESIGN WIND SPEED
1S 110MPH OR GREATER

13| Page



O'COVERS >
Date:_06/23/14 | A%A ENGINEERING
CIVIL * STRUCTURAL

Inspections Division

4.4. Beam Splice Details

1/8" PLATE

(4) #14 X 1" THRU

NOTE: SPLICE OVER POST RECOMMENDED BOLTS EACH SIDE

HEAVY DUTY
I-BEAM HEAVY DUTY I-BEAM
L " L
12
! / ! /
o o | o o
(4)1/4"® THRU BOLTS Il
EACH SIDE \ I
o~
- ; ol -
1/8" PLATE 1-5”,11, 3 ,II,1-5 W
4
o o II o o
| -
[o] 0\

(4) #14 x 1" SCREWS (2-EACH - —— —
SIDE). FOR WIND SPEEDS \ (4) #14 X 1" SCREWS

GREATER THAN 110MPH USE \\ (2-EACH SIDE)
(6) #14 X 1" (3-EACH SIDE) TOP SHOE

\ 2-3/4" SQUARE POST
\TOPSHOE 3/4" SQUARE PO

2-3/4" SQUARE POST

4.5. Colonial Gutter and Acrylite Panel Connection Details

ACRYLITE 16/32 ACRYLIC

HEAVY DUTY ACRYLITE 16/32 ACRYLIC
PANELS BETWEEN T-BAR TBAR PANELS BETWEEN T-BAR
COLONIAL GUTTER

HEAVY DUTY

T-BAR GASKETING

GASKETING F-SECTION AT ENDS
OF ACRYLITE PANELS
BETWEEN T-BARS

COLONIAL GUTTER

#8 x 1/2" TEK SCREWS EACH
#8 x 1/2" TEK SCREWS EACH SIDE SIDE OF T-BAR CENTER UPRIGHT
OF T-BAR CENTER UPRIGHT

l4|Page



[ Lt
= O'COVERS

pate:_06/23/14

| A&A ENGINEERING
CIVIL * STRUCTURAL

4.6. Heavy Duty T-Bar w/Cap And Acrylite Panel Details

OPTIONAL #10x3/8" MACHINE
SCREWS @ 12"o/c FOR INCREASED
STRENGTH AND LONGER SPANNING
CAPABILITIES WHERE REQUIRED

\\\§

_\

\
=

OR

TV

N

W

T-BAR CAP

HEAVY DUTY
HEAVY DUTY T-BAR

ACRYLITE 16/32 ACRYLIC PANEL
GASKETING

N

4.7. Side Fascia Connection Details

T-BAR CAP

HEAVY DUTY T-BAR

GASKETING

\_ ACRYLITE 16/32
ACRYLIC PANEL

SIDE FASCIA

15|Page



6'CoVERs (e,

Inspect

Date 06/23/14 "7 | A&A ENGINEERING
CIVIL * STRUCTURAL

4.8. Bottom Shoe Anchorage Details

4.8.1. Bottom Shoe Details

1.505" 2.500"

®
25

t=0.100" a
5.510"

4.8.2. Bottom Shoe to Square Post Connection Detail

0,750"

0.500"
|

0.750"

PLAN VIEW (2) 3/8"@ THRU

/—3/8"(3 THRU BOLT PLAN VIEW BOLTS

IS
PLAN VIEW - ALT. CONNECTION
PLAN VIEW - ALT. CONNECTION

4.8.2.1. Wind Speeds up to 110 mph or less 4.8.2.2. Wind Speeds greater than 110 mph

4.8.3. Bottom Shoe to Wood Frame Anchorage Detail

BLOCKING BETWEEN DECK 2 3/4" SQUARE POST
JOISTS AT POST LOCATION (4) #14 X 3/4" SCREWS
t . (2-EACH SIDE)
C O ) ¥ _—BOTTOM SHOE
- (2)#14 LAG SCREWS

inmmn| T 11
1;\4 /
/ A
| w/3" THREAD LENGTH

\ EMBEDMENT

0.850

i
E:[BEDMEI\

\ pERIMETER RIM J01sT
SIDE VIEW FRONT VIEW

4.8.3.1. Wind Speeds up to 110 mph or less

16| Page



Inspections Division

Date:_06/23/14

[ Lght
O'COVERS

iy,

BLOCKING BETWEEN DECK
JOISTS AT POST LOCATION

| A&A ENGINEERING
CIVIL * STRUCTURAL

2-3/4" SQUARE POST

(6) #14 X 1" TEK SCREWS
(2-EACH SIDE)

g I_'_|_|//—BOTTOM SHOE

- (4)#14 LAG SCREWS

— w/3" THREAD LENGTH
EMBEDMENT

000 2 +—Dk
T 010 T
/ =
/ e
| E _
\
\‘PERHVlETER RIM JOIST
SIDE VIEW FRONT VIEW

4.8.3.2. Wind Speeds greater than 110 mph

4.8.4. Bottom Shoe to Concrete Foundation Anchorage Detail

4.000"
MIN. THICK

5.000"
MIN. THICK

3.500"

MIN. EDGE DIST|

2-3/4" SQUARE POST

(4) #14 X 1" SCREWS (2-EACH SIDE)
(OR) ALT. 3/8" @ THRU BOLT

BOTTOM SHOE

T— (2)3/8" @ HILTI KWIK BOLT Ill
EXPANSION ANCHOR w/ 2-1/2"
EMBEDMENT (OR EQUIVALENT)

4 s - -4

&

2-3/4" SQUARE POST

(6) #14 X 1" SCREWS (3-EACH SIDE)
(OR) ALT. {2) 3/8" THRU BOLTS

BOTTOM SHOE

™ (2)5/8" @ HILTI KWIK BOLT Il

:i+  EXPANSION ANCHOR w/
3-1/8" EMBEDMENT (OR
EQUIVALENT)

o)
[T}
24
o

o ¥

< i

< :

(%] .

@ .

== <

w

n_, .

Q

= e

o

9 .

4.8.4.1. Wind Speeds up to 110 mph or less
3.500"
MIN. EDGE DIST
=
2o
Nl
=)

o] =

5 2

=2

Olx

vlo

4

SIDE VIEW

FRONT VIEW

4.8.4.2. Wind Speeds greater than 110 mph

17| Page



O'COVERS >
Date:_06/23/14 | A%A ENGINEERING
CIVIL * STRUCTURAL

Inspections Division

5. Design Tables

5.1. Design Notes

1. THE DESIGNS CONTAINED IN THESE TABLES INCLUDE THE SELF-WEIGHT OF THE VARIOUS
COMPONENTS.

2. ROOF SNOW LOAD WAS CALCULATED IN ACCORDANCE WITH THE REQUIREMENTS OF IBC 2009
AND THE PROCEDURES OUTLINED IN ASCE 7-05. THE FOLLOWING FACTORS WERE USED IN THE
CALCULATION: Is = 1.00, C¢=1.00, Cr=1.10, Cs = 1.00

3. THE HEIGHT OF THE WALL TO WHICH THE PATIO IS ATTACHED SHOULD NOT EXTEND MORE
THAN 1FT BEYOND THE ATTACHMENT POINT. IN SITUATIONS WHERE THE EXISTING WALL IS
MORE THAN 1 FT TALLER, SNOW DRIFT ACCUMULATION SHOULD BE ANTICIPATED AND THE
DESIGN PROFESSIONAL HAS TO BE CONSULTED FOR SITE-SPECIFIC DESIGN.

4. THESE TABLES ARE TO BE USED ONLY IN THE CONFIGURATION DESCRIBED IN THE SCHEMATICS
(SEE SCHEMATIC PRECEDING EACH TABLE) AND ARE VALID FOR RESIDENTIAL APPLICATIONS
ONLY. FOR ANY OTHER USES OR CONFIGURATIONS, PLEASE CONSULT THE DESIGN
PROFESSIONAL.

5.2. T-Bar Span Table

EXISTING STRUCTURE FACE

N LSS

i
ACRYLITE ACRYLITE ACRYLITE
<Zt 16/32 16/32 16/32
o PANELS PANELS PANELS
: — ®
=
o N BEAM|SUPPORT _ | ___| |
Z B O S [ S A —— L —
<
T
o
w
>
(@]
SPACING SPACING SPACING

PLAN VIEW

18| Page



Inspections Division

[ Lght
O'COVERS

e,

Table 1: T-Bar Span Table

Heavy Duty T-Bar And T-Bar Cap

Heavy Duty T-Bar And T-Bar Cap Screwed
Together @ 12 in o.c.

T-Bar
Cap
Detail
LA | | N LA AN LA / |
Section | T== b et - w7 et ol P : —
A 24in 48 in 24in -+——48in -
Spacing =24 in o/c Spacing =48 in o/c Spacing =24 in o/c Spacing =48 in o/c
Ground
Snow Overhang Maximum | Overhang Maximum | Overhang Maximum | Overhang Maximum
Load (ft) Span (ft) (ft) Span (ft) (ft) Span (ft) (ft) Span (ft)
(psf)
0 13.00 0 9.25 0 14.50 0 10.25
1 13.25 1 9.25 1 14.50 1 10.25
2> 2 13.25 2 9.75 2 14.75 2 10.50
3 13.75 3 10.00 3 15.00 3 10.75
0 12.75 0 9.00 0 14.00 0 10.00
1 12.75 1 9.00 1 14.25 1 10.00
30 2 13.00 2 9.50 2 14.25 2 10.25
3 13.25 3 9.75 3 15.00 3 10.75
0 12.00 0 8.25 0 13.25 0 9.25
1 12.00 1 8.50 1 13.25 1 9.25
3 2 12.00 2 8.75 2 13.50 2 9.50
3 12.50 3 9.25 3 14.00 3 10.00
0 11.25 0 7.75 0 12.25 0 8.75
1 11.25 1 7.75 1 12.25 1 8.75
%0 2 11.50 2 8.25 2 12.50 2 9.00
3 12.00 3 8.75 3 13.25 3 9.25
0 10.50 0 7.25 0 11.75 0 8.25
1 10.50 1 7.25 1 11.75 1 8.25
4 2 10.75 2 7.75 2 12.00 2 8.50
3 11.25 3 8.25 3 12.50 3 9.00
0 10.00 0 7.00 0 11.00 0 7.75
1 10.00 1 7.25 1 11.00 1 7.75
>0 2 10.25 2 7.25 2 11.25 2 8.00
3 10.75 3 8.00 3 12.00 3 8.50

19| Page

| A&A ENGINEERING
CIVIL * STRUCTURAL




6'CoVERs (e,
Ground

Snow Overhang Maximum | Overhang Maximum | Overhang Maximum | Overhang Maximum
Load (ft) Span (ft) (ft) Span (ft) (ft) Span (ft) (ft) Span (ft)
(psf)

0 9.50 0 6.75 0 10.75 0 7.50

1 9.50 1 6.75 1 10.75 1 7.75
> 2 9.75 2 7.25 2 10.75 2 7.75

3 10.25 3 7.50 3 11.50 3 8.25

0 9.00 0 6.50 0 10.25 0 7.25

1 9.00 1 6.50 1 10.25 1 7.25
00 2 9.50 2 7.00 2 10.50 2 7.50

3 9.75 3 7.25 3 11.00 3 7.75

0 8.50 0 6.25 0 9.75 0 6.75

1 8.75 1 6.25 1 9.75 1 7.00
0> 2 9.00 2 6.75 2 10.00 2 7.25

3 9.50 3 7.25 3 10.75 3 7.75

0 8.25 0 6.00 0 9.25 0 6.50

1 8.50 1 6.00 1 9.50 1 6.75
70 2 8.75 2 6.50 2 9.75 2 7.00

3 9.25 3 7.00 3 10.25 3 7.50

0 8.00 0 5.75 0 9.25 0 6.50

1 8.00 1 5.75 1 9.25 1 6.50
73 2 8.50 2 6.25 2 9.25 2 6.75

3 9.00 3 7.00 3 10.00 3 7.25

0 7.75 0 5.50 0 9.00 0 6.25

1 7.75 1 5.75 1 9.00 1 6.50
80 2 8.25 2 6.25 2 9.25 2 6.50

3 8.75 3 - 3 9.50 3 7.00

20| Page



[ Lght
O'COVERS

Inspections Division

Date:_06/23/14

5.3. Perimeter I-Beam Span Tables

OVERHANG

ROOF PROJECTION

EXISTING STRUCTURE FACE

N LLLLL L L L LS S

—

|
|
O~

ACRYLITE
16/32
PANELS

/— T-BAR
/_

SQUARE

ACRYLITE
16/32
PANELS

POST

PER|METER I-BEAN

ACRYLITE
16/32
PANELS

POST SPACING

PLAN VIEW

e,

A&A ENGINEERING

CIVIL * STRUCTURAL

21| Page



06123/14 %iy(h:fOVERS ‘ “‘
Date:_06/23/14
| A&AENﬁuNG
CIVIL * STRUCTURAL
Table 2: Perimeter I-Beam Span Table
Ground Roof Overhang = 0 ft Overhang =1 ft Overhang = 2 ft Overhang =3 ft
SL';:‘QI Projection Post Height (ft) Post Height (ft) Post Height (ft) Post Height (ft)
(psf) (f) 7 8 9 10 11 12 7 8 9 10 11 12 7 8 9 10 11 12 7 8 9 10 11 12
8.0 200 200 195 175 155 13.0|18.0 175 16.0 145 13.0 11.0|16.5 16.0 145 130 115 95 |155 145 135 115 10.0 9.0
9.0 19.0 185 17.0 16.0 140 12.0(175 170 150 140 120 10.5|16.0 155 140 120 105 9.0 |145 140 13.0 115 100 8.0
10.0 18.0 175 16.0 145 130 11.0(16.5 16.0 145 13.0 115 95 |155 145 135 115 100 9.0 |14.0 135 125 110 9.0
11.0 175 170 150 140 120 10.5(16.0 155 140 120 105 9.0 |145 140 13.0 115 100 &0 |13.5 13.0 120 105 85
23 12.0 16.5 16.0 145 13.0 115 95 |155 145 135 115 100 9.0 (14.0 135 125 11.0 9.0 13.0 125 115 10.0 8.0
13.0 16.0 155 14.0 120 105 9.0 (145 140 130 115 100 8.0 |13.5 13.0 12.0 105 85 12,5 12.0 11.0 95
14.0 15,5 145 135 115 10.0 9.0 (14.0 13,5 125 11.0 9.0 13.0 12,5 115 10.0 8.0 12.0 11.5 105 9.0
15.0 145 140 13.0 11,5 10.0 8.0 (13,5 13.0 12.0 105 85 12,5 12.0 110 95 11,5 11.0 10.0 8.5
8.0 20.0 195 18.0 16.0 145 13.0|17.5 175 155 145 130 11.0|16.0 155 145 125 110 9.5 |150 145 13.0 115 100 8.5
9.0 185 185 16.5 155 135 12.0(17.0 16.5 145 135 120 10.0|155 150 135 115 100 9.0 {145 140 125 110 95 8.0
10.0 175 175 155 145 130 11.0(16.0 155 145 125 110 95 |15.0 145 13.0 115 100 &5 |14.0 13.0 120 105 9.0
11.0 17.0 165 145 135 120 10.0(155 150 135 115 100 9.0 |145 140 125 110 95 80 |135 125 115 100 85
30 12.0 16.0 155 145 125 110 95 |(15.0 145 130 11,5 10.0 85 (14.0 13.0 12.0 105 9.0 13.0 12.0 11.0 95 80
13.0 15,5 150 135 115 100 9.0 (145 140 125 110 95 80 |13.5 125 115 10.0 85 12,5 115 105 9.0
14.0 15.0 145 13.0 11,5 10.0 85 (14.0 13.0 12.0 105 9.0 13.0 12.0 11.0 95 80 12.0 11.0 10.0 8.5
15.0 145 140 125 110 9.5 8.0 (135 125 115 100 85 12,5 115 105 9.0 115 105 95 8.0
8.0 185 18.0 16.5 150 130 11.5(16.5 16.0 145 13.0 115 95 |15.0 145 13.0 115 100 &5 |14.0 13.0 120 105 9.0
9.0 175 170 155 140 125 11.0(155 150 140 120 105 9.0 |145 140 125 110 95 80 |135 125 115 10.0 8.0
10.0 16,5 160 145 130 115 95 (150 145 130 115 10.0 85 (14.0 13.0 12.0 105 9.0 13.0 120 11.0 9.0
11.0 15,5 150 14.0 120 105 9.0 (145 140 125 110 9.5 80 (135 125 115 100 8.0 12,5 115 105 85
3 12.0 15.0 145 13.0 11,5 10.0 85 (14.0 13.0 12.0 105 9.0 13.0 12.0 11.0 9.0 12.0 11.0 10.0 8.0
13.0 145 140 125 110 9.5 8.0 (135 125 115 100 8.0 12,5 115 105 8.5 11.5 105 95
14.0 14.0 13.0 12.0 10.5 9.0 13.0 120 110 9.0 12.0 11.0 10.0 8.0 11.0 100 9.0
15.0 13,5 125 115 100 8.0 125 115 105 85 11.5 105 95 105 95 85

22 |Page



\
o

ol

Inspections Divisior

ol Light
g SSESCR |0 COVERS

LR

| A&A ENGINEERING
CIVIL * STRUCTURAL

Ground Roof Overhang = 0 ft Overhang =1 ft Overhang = 2 ft Overhang =3 ft
Sl-r;c;\;v Projection Post Height (ft) Post Height (ft) Post Height (ft) Post Height (ft)
(psf) (f) 7 8 9 10 11 12 7 8 9 10 11 12 7 8 9 10 11 12 7 8 9 10 11 12

8.0 17.5 170 15.0 140 12,5 105|155 150 13,5 115 10.0 9.0 |14.0 135 120 105 9.0 13.0 12.0 11.0 95
9.0 16.5 16.0 145 125 11.0 9.5 |145 140 13.0 115 100 8.0 |13.5 13.0 115 10.0 85 12,5 11.5 10.5 9.0
10.0 15,5 150 135 11,5 10.0 9.0 (14.0 13,5 12.0 105 9.0 13.0 12.0 11.0 95 12.0 11.0 10.0 8.5
11.0 145 140 13.0 11,5 10.0 8.0 (13,5 13.0 115 100 85 12,5 115 105 9.0 115 105 95 8.0
0 12.0 |14.0 13,5 12.0 105 9.0 13.0 12.0 11.0 95 12.0 11.0 10.0 85 11.0 10.0 9.0
13.0 |(13.5 13.0 11.5 10.0 85 12,5 115 105 9.0 115 105 95 8.0 10.5 95 85
140 |13.0 12.0 110 95 12.0 11.0 10.0 85 11.0 10.0 9.0 100 9.0 8.0
15.0 |125 115 105 9.0 11,5 105 95 80 105 95 85 95 85
8.0 16.5 16.0 145 13.0 11.0 95 (145 140 125 110 9.5 80 (13.0 125 110 95 8.0 12.0 115 10.0 8.5
9.0 15,5 15.0 13,5 115 100 9.0 |14.0 130 12.0 105 9.0 12.5 12.0 105 9.0 115 11.0 95 8.0
10.0 145 140 125 110 9.5 8.0 [(13.0 125 110 95 8.0 12.0 115 10.0 8.5 11.0 105 9.0
11.0 14.0 13.0 12.0 10.5 9.0 12,5 120 105 9.0 11,5 11.0 95 8.0 10.5 10.0 85
45 120 |(13.0 125 110 95 80 12.0 115 10.0 85 11.0 105 9.0 100 95 8.0
13.0 |125 12.0 105 9.0 11,5 11.0 95 8.0 10.5 10.0 8.5 9.5 9.0
140 (120 11,5 100 8.5 11.0 105 9.0 100 9.5 8.0 9.0 85
15.0 |[115 11.0 9.5 8.0 10.5 10.0 8.5 9.5 9.0 8.5 8.0
8.0 155 150 140 120 105 9.0 |140 13.0 120 105 9.0 12,5 12.0 105 9.0 115 105 9.0
9.0 145 140 125 115 95 8.0 |13.0 125 11.0 95 8.0 12.0 11.0 10.0 85 11.0 10.0 8.5
10.0 |14.0 13.0 120 105 9.0 12.5 12.0 105 9.0 11.5 105 9.0 105 9.5 8.0
11.0 |(13.0 125 110 95 8.0 12.0 11.0 10.0 85 11.0 10.0 85 10.0 9.0
>0 12.0 12,5 12.0 105 9.0 115 105 9.0 10.5 9.5 8.0 95 85
13.0 (120 11.0 100 8.5 11.0 100 8.5 10.0 9.0 9.0 8.0
14.0 |115 105 9.0 105 9.5 8.0 9.5 85 8.5
15.0 |[11.0 10.0 85 10.0 9.0 9.0 8.0 8.0

23| Page



el Lt (¢
o 062314 1O'COVERS _——
| e
Ground Roof Overhang = 0 ft Overhang =1 ft Overhang = 2 ft Overhang =3 ft
Sl-r:;\;v Projection Post Height (ft) Post Height (ft) Post Height (ft) Post Height (ft)
(psf) (f) 7 8 9 10 11 12 7 8 9 10 11 12 7 8 9 10 11 12 7 8 9 10 11 12

8.0 15.0 14.5 13.0 115 10.0 8.5 |13.0 125 11.0 9.5 8.0 120 11.0 95 8.0 11.0 10.0 8.5
9.0 14.0 13.5 12.0 105 9.0 12,5 12.0 105 9.0 11.5 105 9.0 10.5 95 8.0
10.0 (13.0 12,5 110 95 80 12.0 11.0 95 80 11.0 10.0 85 10.0 9.0
11.0 (125 12.0 105 9.0 11.5 105 9.0 105 95 8.0 95 85

> 120 |12.0 11.0 9.5 8.0 11.0 10.0 8.5 10.0 9.0 9.0 8.0
13.0 |[115 105 9.0 105 9.5 8.0 9.5 85 8.5
140 |11.0 10.0 85 10.0 9.0 9.0 8.0 8.0
150 |[105 95 8.0 9.5 85 8.5
8.0 14.0 13,5 125 11.0 9.0 125 120 105 9.0 11.5 105 9.0 105 95 8.0
9.0 13,5 12,5 115 100 8.0 12.0 11.0 95 8.0 10.5 10.0 8.5 10.0 9.0
10.0 |12.5 12.0 105 9.0 11.5 105 9.0 100 9.5 8.0 9.5 85
11.0 (120 11.0 95 8.0 10.5 10.0 8.5 9.5 9.0 9.0 8.0

o0 120 |115 105 9.0 10.0 9.5 8.0 9.0 85 8.5
13.0 |10.5 10.0 85 9.5 9.0 85 8.0 8.0
140 |100 95 8.0 9.0 85 8.0
15.0 9.5 9.0 85 8.0
8.0 13,5 13.0 11,5 100 8.5 12.0 115 10.0 85 11.0 10.0 85 11.0 10.0 9.0
9.0 13.0 12.0 105 9.0 11.5 105 9.0 105 95 8.0 9.5 85
10.0 |12.0 11.5 100 8.5 11.0 10.0 8.5 10.0 9.0 9.0 8.

65 11.0 |115 105 9.0 105 9.5 8.0 9.5 85 8.5
12.0 |11.0 10.0 85 10.0 9.0 9.0 8.0 8.0
13.0 |[105 95 8.0 9.5 85 8.5
140 (100 9.0 9.0 8.0 8.0
15.0 9.5 85 8.5

24 |Page



el Lt (¢
o 062314 1O'COVERS _——
|
Ground Roof Overhang = 0 ft Overhang =1 ft Overhang = 2 ft Overhang =3 ft

Sl-r;c;\;v Projection Post Height (ft) Post Height (ft) Post Height (ft) Post Height (ft)

(psf) (f) 7 8 9 10 11 12 7 8 9 10 11 12 7 8 9 10 11 12 7 8 9 10 11 12
8.0 13.0 12,5 11.0 95 8.0 11.5 11.0 95 80 105 95 8.0 9.5 85
9.0 12.0 11.5 10.0 85 11.0 10.0 8.5 10.0 9.0 9.0 8.0
10.0 |115 11.0 95 8.0 105 9.5 8.0 9.5 85 8.5
11.0 |11.0 10.0 85 10.0 9.0 9.0 8.0 8.0

70 120 |105 95 8.0 9.5 85 8.5
13.0 (100 9.0 9.0 8.0 8.0
14.0 9.5 85 8.5
15.0 9.0 8.0 8.0
8.0 12.5 12.0 105 9.0 11.0 105 9.0 10.0 9.0 9.0 8.0
9.0 12.0 11.0 95 8.0 105 9.5 8.0 9.5 85 8.5
10.0 |[11.0 105 9.0 10.0 9.0 9.0 8.0 8.0
11.0 |105 95 8.0 9.5 85 8.5

7 120 (100 9.0 9.0 8.0 8.0
13.0 9.5 85 8.5
14.0 9.0 8.0 8.0
15.0 8.5
8.0 12.0 11.5 10.0 85 10.5 10.0 8.5 9.5 85 8.5
9.0 11.5 10.5 9.0 10.0 9.0 8.0 9.0 8.0 8.0
10.0 |10.5 10.0 85 9.5 85 8.5
11.0 |10.0 9.0 8.0 9.0 8.0 8.0

80 12.0 9.5 85 8.5
13.0 9.0 8.0 8.0
14.0 8.5
15.0 8.0

25| Page



" 5€OVERS “‘)

Date:_06/23/14 | A&A ENGINEERING
CIVIL - STRUCTURAL

5.4. Intermediate I-Beam Span Tables

EXISTING STRUCTURE FACE

N LSS LSS

r
ACRYLITE ACRYLITE ACRYLITE
16/32 16/32 16/32
PANELS PANELS PANELS
/—T—BAR
I
'—
=]
= INTERMEDIATE |-BEAM
w I--CC-C-CCIC-CZC-C-CZC-C-I---Z---ZI1Oo
)
g D\_
« SQUARE POST
© PER|METER I-BEAM
SN—Of--CCCCCY-CCCCCCoY-C---ooino
<
T
&
N
8 K—
POST SPACING
PLAN VIEW
Table 3: Intermediate |I-Beam Span Table
Ground Roof
Snow _°°_ Post Height (ft)
Projection
Load (ft)
(psf) 7 8 9 10 11 12
10.0 180 175 17.0 150 135 11.0
12.0 16.5 16.0 155 140 120 95
14.0 15,5 145 14.0 125 105 9.0
55 16.0 140 135 13.0 115 95
18.0 135 125 120 105 8.5
20.0 125 120 11.0 95 8.0
22.0 12.0 11.0 10.0 85
24.0 115 105 95 8.0

26 |Page



\" of Lighf
o |QCOVERS

LR

Ground Roof )

Snow e Post Height (ft)

Load Pro;(t:tc)tlon

(psf) 7 8 9 10 11 12
10.0 175 175 16,5 150 135 11.0
12.0 16.0 155 150 135 115 95
14.0 150 145 135 120 100 8.5
16.0 140 13.0 125 11.0 95

30 18.0 13.0 125 11,5 100 8.5
20.0 120 115 105 9.0
22.0 11.5 11.0 100 8.5
24.0 11.0 100 9.5
10.0 16.5 16.0 155 140 120 95
12.0 150 145 135 120 100 85
14.0 140 13.0 125 11.0 95
16.0 13.0 120 115 95 8.0

3 18.0 120 11.0 105 9.0
20.0 11.5 105 95 8.0
22.0 10.5 100 9.0
24.0 100 9.0 85
10.0 155 150 140 125 105 9.0
12.0 140 135 125 11.0 95
14.0 13.0 120 11.5 100 8.0
16.0 120 11.0 105 9.0

40 18.0 11.0 105 95 8.0
20.0 105 95 85
22.0 100 9.0 8.0
24.0 95 85
10.0 145 140 13.0 115 100 8.0
12.0 13.0 125 11,5 100 8.5
14.0 12.0 115 105 9.0
16.0 11.0 105 95 8.0

4 18.0 105 95 85
20.0 95 9.0 8.0
22.0 9.0 85
24.0 85 8.0
10.0 140 13.0 125 11.0 95
12.0 125 120 11.0 95 8.0
14.0 11,5 105 95 8.0
16.0 105 95 9.0

>0 18.0 100 9.0 8.0
20.0 9.0 85
22.0 8.5
24.0 8.0

A&A ENGINEERING
| CIVIL * STRUCTURAL

27 |Page



Inspections Division

Ground Roof

Snow .°°_ Post Height (ft)
Projection

Load (ft)

(psf) 7 8 9 10 11 12
10.0 13.0 125 11,5 100 8.5
12.0 12.0 11.0 100 8.5
14.0 11.0 100 9.0
16.0 100 9.0 8.0

55
18.0 9.0 85
20.0 8.5
22.0 8.0
24.0
10.0 125 120 11.0 95 8.0
12.0 11.5 105 95 8.0
14.0 10.5 95 8.5
16.0 9.5 8.5

60
18.0 8.5 8.0
20.0 8.0
22.0
24.0
10.0 120 115 105 9.0
12.0 11.0 100 9.0
14.0 100 9.0 8.0
16.0 9.0 8.0

65
18.0 8.5
20.0
22.0
24.0
10.0 11.5 11.0 100 8.5
12.0 105 9.5 8.5
14.0 9.5 8.5
16.0 8.5

70
18.0 8.0
20.0
22.0
24.0
10.0 11.0 105 95 8.0
12.0 100 9.0 8.0
14.0 9.0 8.0
16.0 8.0

75
18.0
20.0
22.0
24.0

LR

A&A ENGINEERING
CIVIL * STRUCTURAL

28 |Page



\" of Lighf
o |QCOVERS

LR

Ground Roof
Snow ,°°_ Post Height (ft)
Projection
Load (ft)
(psf) 7 8 9 10 11 12
10.0 10.5 10.0 9.0
12.0 9.5 8.5
14.0 8.5
16.0 8.0
80
18.0
20.0
22.0
24.0

A&A ENGINEERING
| CIVIL * STRUCTURAL

29| Page



